Sec 11-2: Arithmetic Sequences

Created by adding the same number each time.
The difference between consecutive terms is constant.

d = Common Difference = any term - previous term

d - an - an-‘]

Given the following Arithmetic Sequence

16, ?, 28, ... Find the value of ?

T

since the unknown number is exactly

& i i in the middle of 16 and 28 you can find
= = z = Z2_2_this by averaging them (find the mean).

x is called the Arithmetic Mean of 16 and 28.

Find the Common Difference (d) in each Arithmetic
sequence.

d = any term - previous term

1. 14,22,30,38,.. d= 21-17 =3

2. 29,02 16,85 1 = LD =29 = =T

Find the missing terms of this Arithmetic

sequence.
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34,40, 4L , 5= 58
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T =1 e
the 3rd term is the mean of the 1st & 5th b[ é = 9%
the 2nd term is the mean of the 1st & 3rd C\, = (ﬂ

use this common difference to

the 4th term is the mean of the 3rd & 5th fingithembssing ems,



Find the missing terms of this Arithmetic

sequence.
-44! ) ) 3 ) 16
find the common difference:
distance between _
terms |é - L\ H _ bo 9
# of steps to ? S = g =\
cover that
distance : ,
now start with -44 and keep adding 12.

_44a #321—1Oa_8 ’L\ :16

Write the recursive formula for this sequence:

56, 53, 50, 47, ...

this is an arithmetic sequence
where d = -3

A, =506
An = (O‘n—’} +73

Recursive Formula for an Arithmetic Sequence:

1218 19.25. The recursive formula for
S ANY Arithmetic Sequence:
na e as = Given First Term
13-
d=c an=an1+d
Q=7
q"I = qn—( \L g

Explicit Formula for an Arithmetic Sequence:

5.9, 18,472 e

Find d 1= 9-5=4 Explicit Formula:
remsimms 3= 9 +4(n-1)

a1 = 5 and a‘ddsab’ur{7

=5+4 ol 3

is always one Exp||C|t Formula for

less than

soem [ any Arithmetic Sequence:
an=aq +(n - 1)d

az=5+4+4
aa=5+4+4+4
as=5+4+4+4+4




47,60, 73, 86, ... ar L Pametio 5.8 11, 14, ... QY 1w e/*xz N
o =
(A = l 5 write the explicit formula
an =S + B(m-z)

A= 471¢ (3 (=)

use the explicit formula to find the 23rd term.

=S 333 - ol

Given the two terms below are part of an Arithmetic
Sequence, find the 16th & 50 th terms in the sequence.
You can now finish Hwk #30:

use the explicit formula to find the 16th and 50th terms:

as =22
a=(, +4 ([bL-1) = &b Sec 11-2
ax =94
Find the common difference Page 608
99-22 - _
d= T ~Z’:L{ aso= (b L1 (5071) 702 Problems 2-5, 15, 16, 26, 27, 53, 54, 63
=S L&
Find the first term
al = @ & = L[e] Write the explicit formula
An =l +4(n-t
A ) =2 - L}(q) " ( )



